KONSTRUKCJE |H) Hetmaniok
NA DACH PLASKI

Flat roof structures

KONSTRUKCJA BALASTOWA
SYSTEM W-H LONG WSCH.-ZACH.

Ballast structure.

W-H long system, east-west.

INSTALLATION MANUAL INSTRUKCJA MONTAiU

© W&H Sp.zo.o. O 48794530721 = biuro@hetmaniok.pl s 1SO 9001
. " EN ISO 1090 1
ul. Kosciuszki 49, 48 575530 721 x www.hetmaniok.pl # N/ ENISO38342

44 351 Turza Slaska



ot 1. ROZMIESZCZENIE SZYN W-H (H) Hetmaniok

W-H rails system layout

Nakretka
kotnierzowa M10

M10 nut

Sruba teowa M10x25

M10x25 hammerhead bolt

Podktadki EPDM 330x150x4mm

INSTALLATION MANUAL INSTRUKCJA MONTAZU

EPDM washers 330x150x4mm

I : I
Rozmies¢ szyny W-H na szerokos$¢ modutu PV. W miejscach podpor Place the W-H rails the width of the PV module. In places of supports
podtdz podktadki EPDM 330x150x4mm. Podpory majg $redni rozstaw place EPDM washers 330x150x4mm. The supports have a medium spacing
. . . . . . L. 650mm (depending on the type of module). In case of emergency connect
650mm (w zaleznosci od rodzaju modutu). W razie koniecznosci the W-H rails with a connector using 4xM10x25mm hammerhead sbolt and M10 nuts.

potgcz szyny W-H tgcznikiem za pomocg 4 srub mtotkowych M10x25mm
i nakretek M10.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

2. ROZMIESZCZENIE PODPOR (H) Hetmaniok

Arrangement of supports

Podpora niska systemu W-H

Low support of the W-H system

Nakretka
kotnierzowa M10

M10 nut

Sruba teowa M10x25

M10x25 hammerhead bolt

Za pomoca dwdch srub teowych M10x25mm i nakretek kotnierzowych M10 Using two M10x25mm hammerhead bolt and M10 nuts
. . : _ LA : attach the low and high supports to the W-H rail.
przymocuj podpory niska i wysokg do szyny W-H. Odleg’rosc migdzy modutami Distance between modulesin the upper part should be min. 20mm.

w gornej czesci powinna wynosi¢ min. 20mm.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

3. I\/IONTAZ/BALASTU
BLOCZKOW BETONOWYCH

Mounting ballast - concrete blocks

|H) Hetmaniok

cCE
G

.
SLUPSK  GDARSK ®
-
ELeLAG SUWALKI
. OLSZTYN

. SICIECIN
POTNAN
Strefy wiatrowe zmou

Wind zones

KALsZ
.

QPOLE
.

» TORUK BIALYSTOR

CZESTOCHOWA

KATOWIEE
KRAKOW RZESZOW
. .

Docigz za pomoca balastu szyne W-H miedzy podporami.
Ciezar balastu musi byc dopasowany do strefy wiatrowej,

w ktérej konstrukcja jest montowana.

Weighten the W-H rail between the supports with ballast. Weight of the ballast
must be adjusted to the wind zone corresponding to the location of structure.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

4. MONTAZ KLEM (H) Hetmaniok

Module clamps installation

Sruba imbusowa M8

M8 allen bolt

Module Clamp

Wpust przesuwny z kulka

Sliding slot with a ball

W goérnym kanale podpory umies¢ wpust przesuwny. Wpust przesuwny Place a sliding key in the upper channel of the support.
P . - . . e Sliding keylt is structurally adapted to be inserted from the top anywhere
konStrUKCmee przystosowany Jest do wiozenia od gory w doonnym miejscu kanatu. in the canal.After installing the slots, lightly fasten the clamps using M8 Allen screws,

Po zatozeniu WPUStOVY |e|'(k0 przymocuj klemy Za pomocy sr.Ub imbusowyCh M8:[ the terminals may hang loosely, they will be screwed down when installing the modules
klemy mogg luzno zwisac, zostang one przykrecone w czasie zaktadania modutéw.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

4a. MONTAZ KLEM - SYSTEM KLIK (H) Hetmaniok

Module clamps installation - CLICK system.

Sruba imbusowa M8

M8 allen bolt

Klema

Module Clamp

Nakretka kwadratowa M8

Wopust Klik

Click insert

W gdérnym kanale podpory umies¢ wpust Klik.

Po zatozeniu wpustéw lekko przymocuj klemy za pomocg $rub imbusowych M8
i nakretki kwadratowej, klemy mogg luzno zwisac¢, zostang one przykrecone

w czasie zaktadania modutéw.

M8 square nut

Place the Click key in the upper channel of the support.
After installing the slots, lightly fasten the clamps using M8 Allen screwsand square nut,
the terminals may hang loosely, they will be screwed downwhen installing the modules.



L2 5 MONTAZ PANELI FOTOWOLTAICZNYCH H) Hetmaniok

Installing the photovoltaic panels

INSTALLATION MANUAL INSTRUKCJA MONTAiU

Na tak przygotowanej konstrukcji rozmies¢ moduty dokrecajgc klemy On a structure prepared like this, install modules one by one securing every subsequent

kolejno po utozeniu kazdego nastepnego modutu Klemy powinny znalezé Sie one with clamps. Clamps should be at the right module width, according to the PV module's
; - e . ’ ST . . installation manual.

na odpowiedniej szerokosci modutu, zgodnie z zaleceniami instrukcji montazu

modutéw fotowoltaicznych.



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7

